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There is a slide in the playground.




the playground.

In

ides

There are two sl
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There is 4uvtnauiuennai

There are ldiwdauunyna
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' I Numbers

one =1 Six = 6
two = 2 seven = 7
three =3 eight = 8
four =4 hine = 9
five =5 ten= 10
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There is a see-saw in the playground.




There are three slides in the playground.




There are two see-saws in the playground.







IU»:'n.ﬁ; 1 G‘m True or False
wihemsieusii 6 (393 My Free Time
uuumﬁ'ﬂm‘n"mujﬁ 1 {3 Things in the Playground (1)
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Instructions: Look ot the picture and read the sentences. Tick (v) if the sentence is frue
and cross (x] if the sentence is not true.
aamuarsulselueuduimaiasunn v dwseloaiuiierumneasafunmiio (3]

i X aaelontianaumnaialuainam

1) There is a slide in the playground.

2) There are three swings in the
playground.

3) There are three boys in the playground.

____ 4)Thereis a girlin the playground.

5) There is a see-saw in the playground.

6) There is a roundabout in the
playground.

7) There are steps in the playground.

8) There is a swing in the playground.
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Tu9rUN 1 True or False

iLook at the picture and read the sentences.
iTick (V') If the sentence is frue and cross (%)
if The sentence is not true.
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__1) There is a slide in the playground.

__2) There are three swings in the playground.

__3) There are three boys in the playground.

__4) There is a girl in the playground.




__5)There is a see-saw in the playground.
__6) There is aroundabout in the playground.
__7) There are steps in the playground.

__8) There is a swing in the playground.




1) There is a slide in the playground. ' 0
2) There are three swings in the playground.
3) There are three boys in the playground.
4) There is a girl in the playground.

5) There is a see-saw in the playground.

é) There is a roundabout in the playground.
7) There are steps in the playground.

8) There is a swing in the playground.
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There are three slides in the playground.




Homework
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There is a see-saw in the playground.
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There are two swings in the playground
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